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General Instructions :
(i)  All questions are compulsory.
(ti)  Questions number 1 to 8 are very shori-answer qr{estians and carry
I mark each.
(iii) Questions number 9 io 18 are short-answer questions and corry 2 marks

each.
(iv) Questions number 19 to 27 are also short-answer guestions und carry

3 marks each. .

fv)  Questions number 28 to 30 are long-answer questions and carry § marks
each. |

(vi) Use Log Tables, if necessary. Use of calculators is not allowed.

L e iew ok TaEs e § 3 fad st wied it
gt & 2 g
Of physisorption or chemisorption, which has a higher enthalpy of
adsorption ?
L9, W U % winA & fow s fafy & A e | 1
Name the method used for refining of copper metal.

3. et fta @ A o wa et 2 et A % vt Tan | | ]

Name two poisnnﬂua gases which can be prepared from chlorine gas.

s Prafafes i w o @0, (QUPAC) M firf I
CHs
CH, - c CH - CH,

CH, CI
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Write the IUEAC name of the following compound :
T ‘
. _CH,-(I}-(EH-CH,
~ CH, CI

5. mm@mmgmﬁtm@mm; I
| CHg—-CHO, CH;-CH,-OH, CH; - CH; ~ CH,
Rearrange the following compounds in the increasing order of their

boiling points : .
| CHﬂ - CHD? CHB - CH2 - OH: C.H.'a - CHg - CHa
6.  nAREERAT Ft wra g fafan | I
Write the structure of n-methylethanamine. Ry |
7. - th-wﬂmmwﬂﬁt? um X 1

What are the products of hydrolysis of sucrose ?

8. W {CH,~ CH), . ¥ags% (homopolymer) 8 34 WEWE™ (copolymer)?

Cl |
; . , 1
Is ¢CH, - fH % @ homopolymer or a copolymer ? I
| Cl | |
9. Frefifn % sxm WY | | 2

() R (Schottky) A% 27 W Tt It 71 WA ma.mtl'
(i) Tofoer %) wiesrm A M F0 w T forega =veran ag o @ |
Account for the following :

()  Schottky defects lower the density of related solids.

(i) Conductivity of silicon increases on doping it with phosphorus,

10, tgﬁmmhzaam HIRA TER (foe) T H B 2 :murg'a?l ~
TR B 125 pm R | U1 3 W A9 ) w5 ) o w2 0 2
Aluminium crystallizes in an fec structure. Atomic radius of the metal is -
125 pm. What is the length of the side of the unit cell of the metal ?
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11, 2fme A9 #1 9 e v (B9) + 11 v ) sfifen
Zn(s) + Cu** {aq) —— Zn** (ag) + Cu(s)

% o7 AG® Withferd HIfWT | (LF = 96500 Cmol™) . 1 2
The standard electrode potential (E°) for Daniell cell is + 1-:1 V. Caleculate
the AG® for the reaction

Zn (3) + Cu®** (aq) ——> Zn** (ag} + Cu(s)
(1 F = 96500 C mol™).
.12, (a) Hﬁlﬁfmﬁ+3—}l’ﬂimﬁﬁﬁﬂﬂ
r=k[A]"*[B} .
| & o o @ | 38 e B FR (order) 7 AVf 7
b) T e 2R 6 aflEn = I P k = 55« 107 571 3 o
o 2 | 38 s 3 onf o we Aif ) 2
(a) Forareaction A+ B — P, the rate law i is given by,
r=k[AJ (B -
What is the order of this reaction ?

(b) A first order reaction is found to have a rate constant
k =55 x 107 g1, Find the half life of the reaction.

13. (a) mmﬁm(h)ﬁﬁ%mmﬁﬁmm%mt

(b) ¥ A feat (wrought) e 5w vam firm g 22 2
. (@ Name the method used for removing gangue from sulphide ores,

| ()  How is wrought iron different from steel ?
14. = g ) v smiftea W | 2
) XeOF, ~ |
(ii) HZPO,
Draw the structures of the following mul&mlﬂa
) XeOF,

(i) HgPOjs

15. mﬁm!ﬁﬁmﬁﬁﬁaﬂ%i?ﬂ%mmaﬁﬁﬁﬁzﬁmm
FEAMR 7. ' 2
How are interhalogen compounds formed ? What general compositions
can be assigned to them ?
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16. Fefefes sffwn € frafif € s il 2
; ' H+ |
; CH3 -— CHz - 0OH ———ly CH2 = CH2 + H20
. 443K -
Explain the mechanism of the following reaction
| ek _
CHy ~ CHy ~ OH —"— CH, = CH, + H,0

443K

17, ﬁnﬁlf&aaﬁr&msﬁ%miﬁm%m: 2

0 W - afifn

(i) e 5 S e

Write the equations involved in the following reactions :
(1)  Reimer —Tiemann reaction

(1)  Williamson’s ether synthesis

18, Wﬁm%#%ﬁﬁqzmmmﬁ.@s

What is a biodegradable pol 9 i o= o
aliphatic polyester. polymer ¥ Give an example of a biodegradable

19, W 298 K @ wialin f 313 K & o @ @ v afa @ w ()
T R R lumgﬁmaﬁﬁ%mmﬂwﬁﬁﬂﬂﬁﬁm |
A i w4 (B,) e e | |
(R=8314J K™ 9a, log 4 = 0-6021) | 3

The rate of a reaction becomes four times wh
en the temperature
from 293 K to 313 K. Calculate the energy of activap;nn (E}}Ch:i?tghaz

reaction assuming that it does not change with temperature,
[R=8314J K™ mol™, log 4 = 0-6021]
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90, Prfefes wrafzel # frirrand w0 ¥ 7 T TER F TG [EO AT 1 3
| i i@aﬂﬁﬂi ENGIEE ‘
Gy oAl (i) wie
(i) ¥HEH .
What are the characteristics of the following colloids ? Give one example
of each.

i)  Multimolecular mllluidu
(i) Lyophobic sols
(jii) Emulsions

21. frofefiga & SR T - | 3
Q) e TR 9 R & RE® @ RP = O A W T A ¢ WA
" ReN = O i Tel T =l |

Gi) PbCl, & PbC), St wewdirh! FH T 2 |

Gif) T T W N, aga w9 Ferde ol R |

Give reasons for the following :

(i) Where R is an alky] group, RgP = O exists but RgN =0 does not.
(ii) PbCh is more covalent than PbCly.

(i) At room temperature, N, is much less reactive.

o9, dwt (NiC), I~ % form, ferftae _ 3

) @@ [UPACTH |

i) oo der iy & A |

(i) w1 TRl SR |

(Ni %1 T HAE = 28)

yerat

frerer 83 (field) Rz sl & 7 st @ 2 e & g & SR W
%me,amﬂﬁwamaﬁmmmm

i) Ay>P
(i) Ag<P . 3
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24.

For the complex (Ni (':]4]2 ", write
(i) .the IUPAC name,

(i)  the hybridization type.
(iii) the shape of the complex.
(Atomic no. of Ni = 28)

OR
What is meant by crystal field aplitting energy ? On the basis of crystal
field theory, write the electronic configuration of d* in terms of ty and e,
in an octahedral field when
i) Ay>P
(1) Ap<P

ﬁwl%ﬁa#hmm

mlia;m‘lm Ufir smRe ) gern i sﬂzarﬁﬁ%maﬂnmma
w8 |

(i)  (2) 2SI o ifoa B ® |

(i) Q@A § C - X B 0 T CH; - X © - xﬂmm
CEZR RN

Give reasons for the t‘ollowdng
(i)  Ethyl iodide undergoes Sy2 reaction faster than ethyl bromide.

(i) () 2-Butanol is optically inactive.
(1)) C-X bond length in halobenzene is sma]ler than C-X bond
Iengﬂi in CHa—

e st ) g0 o fof ,
()  CHyCH,NH, + CHCl; + Us®igicit KOH ~—»
| H,0

i) CoHN,CI
W T )

NE,
(i) @ + HCI (efta) —
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Complete the following reactions :
(i) CHyCH,NH, + CHCl; + ale. KOH —»

H,0
(Room Temp.)

(i) CgHEN,CI

(iid) @ + HCl(aq.) —

25. (i) ‘Wfed frg =i i stww 2 2
(i) ‘Iﬁwﬁt}az*:ﬂmgﬁ'@f aa@eﬁtmmmm
4, T $] AYN Gvila TS
(i) ﬁn&ﬁaﬁﬂmmqﬁﬂm(anmepm)m? .
~ 02% |, 1% e 3
: (i}  What class of drug is Ramt:dmc ?

(i) If water contains dissolved Ca** 1ons, out of soaps and synthetic
detergents, which will you use for cleaning clothes ?

(i1} Which of the following is an antiseptic ?
0-2% phenol, 1% phenol

26. = A& &+ 25°C W R.A. 99 (em.f) Tafom =t -
Ag (s) | Ag* (10 M) || Cu®* (107" M) | Cu ()
o man @ E;ha =+046V 3M log10"=n. 3
Calculate the emf of the following cell at 25°C :
. Ag(s)| Agt (10 M) || Cu®* (107 M) | Cu (s)
Given E_, =+ 046 V and log 10° = n,

27, Mm%mﬁmﬂﬁwﬁaﬂaﬁm T IS I
B i g | St o iw & 3@ P $ e d & st v
& mi 1 sl w & =i @R R | SR 3 IS o drars s
AR wgfaerft ferat frg 61 | siedt @it § sfind sow 3 3o A6 2

A # | T 0™ A9+ R Wi = 3R
m%ﬁaﬁww@wﬁ%mm B 3

(i) Ao s 3 T g+ oftee e 2
™ W mﬁaﬁammwﬁaﬂsm%maﬁﬁ‘mﬁmﬁm
S’ (ot TeRTERa) B30 |
(i) wo-Reef fefs ® w gro 3 |
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Shanti, 2 domestic helper of Mrs. Anuradha, fainted while mopping the

floor. Mrs. Anuradha immediately took her to the nearby hospital where

she was diagnosed to be severely ‘anaemic”. The doctor prescribed an iron

rich diet and multivitamins supplement to her. Mrs. Anuradha supported

her financially to get the medicines. After a month, Shanti was diagnosed

to be normal. . _ ;

After reading the above passage, answer the following questions : |

(i)  What values are displayed by Mrs. Anuradha ?

(i) Name the vitamin whose deficiency causes ‘pérnicious anaemis’ |

(i) Give an example of a water soluble vitamin, |
28. (a) Soeftet o ot ferm & fom wewe Fam fofia | fse woR Teee

- Pt ARy R ame

(b) g%migw%mﬁ?a:ﬁlmsmﬁ‘mﬂmﬁ
0-40 K 3 9 & "1 | ¥ HIeR Z9H T
(%7 % T K, = 512 K kg e ™ "« % 3 e

(@) = vt $it wfomnd it . -
) e ferm
(i) e (Azeotrope) -
Gii) 9UEoft 2 (Osmotic pressure) . - .
b) T I (CgHy0p) & T fema F dwa w fovan 2 v =y
10% | 78 Toera ) dieera v a0 2 |
(S 1 R 25 = 180 g i) | 5

(a) State Raoult's law for 4 solution containing volatile components.
How does Raoult’s law become a special case of Henry'’s law?

(b) 100 g of a non-electrolyte solute dissolved in 50 g of benzene

: lowered the freezing point of benzene by 0-40 K Find the molar
mass of the solute. (K¢ for benzene = 512 K kg mol ™) i

OR.
{a)  Define the following terms :
(1)  Ideal solution
(ii) Azentmpe |

(i1i) Osmotic pressure
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®) A solution of glucose (CgHy;Og) in water is labelled as 10% by
weight. What would be the molality of the solution ?

(Molar mass of glucose = 180 g m-l)
2. (a) Fafee % wor A .
) Ma™ T8 31 Sheehns (averes) { |
(ii) mﬁﬁﬁmmﬁf (ﬁﬂ"ﬂ]iﬁ o
:gﬁiaaﬂr , o
(i) ¥@M P ¥ Q7 @ : _ *
RRELIES MnF4ﬂm$ﬂ§aﬁﬂ2§;;? N
(b) ﬁﬂmﬂWﬁaﬁwﬁ |

(i) 2Cr03' +2H =

@) KMnOq——, . 5

J Herm
(a) WP T TRadie ofnliem saend ® ReR 0

(i) Se(Z=21)® Zn (Z = 30) 7% Wom thmﬁim

memmmmimmm
, .

() | 38 T T Ry o e 43 sifadinon s R |
b) IR T 70 d k230 o v g w1 am R fred
¥ HAe uig st wf | pilie - 5

(a) . Give reasons for the following :
(i) -~ Mn" is a good oxidising agent.

(ii) EM’ N values are not regular for first row transition Y

~ metals (3d series). -
(iii) Although F is more electronegative than ‘0", the highest
Mn fluoride is MaF,, whereas the highest oxide is Mn,O,.
(b) Complete the following equations : |

() 2Cr0}" +2H' -

Gi) KMnO, —2°%

A d% %9 3

M2+ /M
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(a)

(b)

(b)

(a)

Why do transition elements show variable oxidation states ?

(1) Name the element showing maximum number of oxidation
states among the first series of transition metals from
Sc(Z = 21) to Zn (Z = 30),

(1) Name the element which shows only +8 oxidation state.

What is lanthanoid contraction ? Name an important alloy which
containg some of the lanthanoid metals,

mﬁnmmﬁaﬁﬁ:
(i) ST B SNE-2-3 |
(i) T T 2-FEgTed YRS I ¥
(iii) 2§ =1 Iy o
ﬁn%ﬁqmmmmw
() WA-2-3 3k PR3- 1
(i) TS AR TS |

AT

s sftfsanall & seare Rl -

Zn -
@ CHy-C- Cﬂaﬁ“ag‘*?

b) - e et o @ P Ren B oy s yaer v w8 9

) F-CH,~COOH # war C!-CH,-COOH %t
OH -

(i) @ % HgS CH;COO0H %

JAGRAN

€2 Josh

Simplifying Test Prep

Get SOLVED & UNSOLVED question papers, Sample papers, Practice papers and study material for the last moment

And Much More...




CBSE Class 12" Chemistry Question Paper 2013 Set-1

™ Josh

Simplifying Test Prep
(a) How will you convert the following :

(i) Propanone to Prqpap-ﬂ-n]
Gi) Ethanal to 2-hydroxy propanoic acid
(iii) Toluene to benzoic acid
(b)y Give simple chemical test to distinguish between :
(i) Pentan-2-one and Pentan-3-one
(ii) Ethanal and Propanal

OR
{a) 'Write the products of the following reactions :
Zn - Hg z
G CHg- cli -CH, g
° BaSO
Pd -
(i) cn,-tﬁ-m+H, ——4> 2

0
COOH

w ) I,

(b)' Which acid nf each pair shown here would you expect to be
stronger 7
(i) F-CH,-COOH or CI-CH.‘!-COOH

OH
(ii) @ or CH;COOH
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